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- Solve systems of linear equations by substitution.

Solve Linear Systems
by Substitution

variables. When possible, solve for a variable
that has a coefficient of _{ or — | .

Step 2 Sybsht+e the expression from Step 1 into the
other equation and solve for the other variable.
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Solvé the linear system:(x)= —2y + 2  Equation 1 ¢ X 'S T5s0 CATED
3X+y=16 Equation 2
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Example 2 Use the substitution method

Solve the linear system: 4x — 2y = 14~ Equation 1
2x+y=-3 Equation 2 & T SoLATE \/
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&Thesblution is (_)1(_, )- e 4 () -2(-8)=1¥  C () Y +(-5)=-3
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® checkpoint Solve the linear system using the
substitution method. '

ESx-4y‘=/—1 2.x+y=5
___9 y=6x+5 Qx—g =3
5x-y (6x+s ) =~ Tx <Tlox4s)=3
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